coins =  {1,5,8}

amount =  4

change ({1,5,8}, 4)  // initial call

amount        4

min           4

coins.length  3

i = 0  1  2 3
amount/2      2

j = 1   




1

 number = change ({1,5,8}, 1)  + change ({1,5,8}, 3)  // subsequent calls

   change ({1,5,8}, 1)  // second call

   amount        1

   min           1
   coins.length  3

   i = 0

   coins[0] = 1  so return 1



    change ({ 1,5,8}, 3) // third call

    amount 
   3

    min          4                                       
    coins.length 3
     i = 0  1  2 3

     amount /2       1

     j = 1  


         1

    number = change ({1,5,8}, 1)  +  change ({1,5,8}, 2) //subsequent calls

    


    change ({1,5,8}, 1)  // fourth call

 


    amount        1

    min           1

 

    coins.length  3

  

     i = 0

 


     coins[0] = 1  so return 1


         change({1,5,8}, 2)  // fifth call

   

         amount 

2



         min 

2

                              coins.length     3

                      



        i = 0  1  2 3






        amount/2              1







        j = 1

                                                                  

    1


1

        number = change ({1,5,8}, 1) + change ({1,5,8}, 1) // subsequent calls

        change ({1,5,8}, 1)  // sixth call





    

        amount        1

    


        min           1

 

                                            coins.length  3

 

       i = 0

 


     


      coins[0] = 1  so return 1

     change ({1,5,8}, 1)  // seventh call

 


    






     amount        1

    






     min           1

 

    






     coins.length  3

  

     






     i = 0

 


     






     coins[0] = 1  so return 1
